EARAROBEEIERT — 2 N— IBISH —F

20165F5A3H () 3m£iR4A

ma C T TR ERERIA—1 YR (w8 | imEmml - |5 5) som 8
[A&4£] 17 :1,000,000 @ 23 :200,000 ™ ~ 33#&:90,000” . 43%&:70,000H” 53 :40,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— . . MAHIES] :37. —5-3- . — £HE—8 (&R
Wl 75>7v1x o7 s 1(3_7)7 5-5-3-2 | 38.6 5 ?2; I
L:a4% 0 by B:TLARIVYTIIL EZHTT— L
W3 4 8 | BHBHRE 1:38.3 1-1-1-1 [39.8| — 4 489 | HOREANSE (&R)
71 3 RIENEREN 56.0 3) (1) | RIS
L:F—TRTPN—h BxA4>3ua1€ B
PIIRS EFREA : —3-0- — hNEEFNE (£IR)
3 NEEFSLA it 5 == 1.(328>.7 3-3-2-3 | 39.7 2 (4_836) g
LY LTAN—F B:TvITM> HE Em
S 9 | HEkEth 1:38.9 8-8-8-7 [38.8| — 7 513 | et (£R)
ANy | TR " 5.0 ) (1) | AR
:7L>FFE2T1 B RV—HI-X> [Ea=Fier]
e s g FHEIBAA :38. —6-7- X — £H—8 (&R
5155 v TNRTAN # 10 N 1(738t>9 6-6-7-6 | 39.4 3 (4+835) 82
R:Tv TRy b BiY PV "HET77— L4
S = g 4 6 | BLURF 1:39.0 7-7-6-4 | 39.5| — 1 517 | X (£R)
6 2| b3 TIA R 56.0 (172) 4s) | MIYATEE (R
:a—I>7Y> B:Y—&2buday Fy Y aEEMASH T avi
35 4 5 | AES 1:39.1 9-9-9-8 |38.6| — 8 459 | HIIHEZ (£3R)
71111 | VY~x/32Z 70 5.0 (1/2) (-3) |WOEAE
R:hN=Z— B:5474)—K AR R
S 4 5 | BUIER 1:39.6 4-4-3-5 | 40.5| — 6 492 | £H—E (&R)
gl8|8g| Vv TRy b ?6.0 (2 1/2) (+5) {ERRBAR
LAY INT— BITINT—T INTr—L
= = 44 | MERK 1:41.4 2-2-5-9 | 42.4| — 9 483 | BAIEH (£R)
9|77 TLT 197 54.0 (9) (+6) (%) 77— hEY 3>
B = B O P O G =38 AV 11— NETHIS
® I—F—@EBIERL
13—7F— 3,7,9,8,6,5,2,4,1
20—F— 3,7,9,8,6,5,2,4,1
T =35r= 3,9,(6,8),7,2,5,4,1
41—F— 3,6,9,2,8,5,4,1,7
[ RN
B 6 1,770M 794K 3-6 1,920M & 3-6 4,530/ &R 3-6-9 5,250/
# B 6 220H 6-9 980F B 6-3 10,980 EE 6-3-9 121,090
3 270H 3-9 910M B = 3-6 6,520M
9 140/ B H =8 24,690M

ABICOVWTRDTEEERROODE. TR LIV,




